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- UDPTO—H—/N\Z=EkT 5

- DSATUMIRIRMERL =954 7 U e F

- bR+ 9 HR—rEFE S (getaddrinfolFIZIEE T
HIR—rEB)L. FEF S TSMHEHIE

- )E£EFE S 80749358
getaddrinfo(NULL, “49358”, &hint, &res);
bind(sock, ai—>ai_addr, ai—>ai_addrlen);
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- FESREFHURL

- http://long.sfc.wide.ad.jpo/" tatsurou/09a—npro/06—
logviewer.cgi




#include <stdio. h>
#include <netdb. h>
#include <stdlib.h>
#include <string. h>
#include <unistd. h>

int
main (int argc, char *argv[]) {
struct addrinfo udpbserv = {
AI_PASSIVE, // (B—/\F)
AF_INET®,
SOCK_DGRAM, // UDP
0, 0, NULL, NULL, NULL // #hoD&i
[Tz L
}
struct addrinfo *ai, *res;
struct sockaddr_storage peer;
socklen_t addrlen_peer;
char buf[512];
int sd;
int ret;

int readlen, sendlen;

/* open socket to receive UDP/IPv6 packet */
getaddrinfo (NULL, “49358”, &udp6seryv,
&res) ;
for (ai = res; ai; ai = ai—>ai_next) {
sd = socket (ai—>ai_family,
ai—>ai_socktype, ai—>ai_protocol);
if (sd = -1) {
perror (“socket() failed”);
continue;
}
ret = bind (sd, ai->ai_addr,
ai—>ai_addrlen) ;

if (ret = -1) {
perror ("bind() failed”);
close (sd);
continue;
}
break
}
if (res)

freeaddrinfo (res);




/* receive udp packet and echo to display */
while (1)

{
/* receive message */
memset (&peer, 0, sizeof (peer));
addr len_peer = sizeof (peer);
readlen = recvfrom (sd, buf, sizeof (buf), O,

(struct sockaddr *) &peer, &addrlen_peer)
if (readlen < 0)

perror (“recvfrom () failed”);
write (1, buf, readlen);

sendlen = sendto (sd, buf, readlen, O,

(struct sockaddr *) &peer, addrlen_peer)
if (sendlen == -1)

perror (“sendto () failed”);
}

return 0;
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UDP

(User Datagram Protocol)
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TCP

(Transmission Control Protocol)
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TCP #{E DN (client)

TCP client TCP Server

socket()
v

bind()
v
listen()
v
acc&ept()
data v

read() [«—
v

establish

data write()

l

end read()
v

close()




connectO AT LOd—)L

#include <sys/types.h>

#include <sys/socket.h>

int connect(int sockfd, const struct sockaddr *serv addr,
socklen_t addrlen);

- int sockfd; (V4w Rk F)
- struct sockaddr *serv_addr; (FAra)LJIEDTRL R E&EARA
DRA3)

- socklen_t addrlen; (7 FL X$E&EADH A X)
ROy kEDETE K
B {iE

- BiRICHRU T 5EE0FRY. KT HE-1ERT

ey




(BB #8)getaddrinfo

- getaddrinfo(const char *nodename,

const char *servname,
const struct addrinfo *hints,

struct addrinfo **res):

- nodename=7R A4, servname=rk—F, hints(X[FER
DIAATIZET AEU K, reslEFER Daddrinfod!) A+
AN TR (RS

- BUE:RINT HE 0 7L, REXTHELLTDIEO
DIS—a—FDWWINhEFIRT,

- H—/\DEBEEIL

- nodenamelEXNULL
- hints|ZAI PASSIVED S5 4% F 9 3



addrinfof&g = A&

<netdb.h>
struct addrinfo {
int  ai_flags; /* Al PASSIVE, AL CANONNAME */
int  ai_family; /% PF xxx %/
int  ai_socktype; /% SOCK xxx */
int  ai_protocol; /% 0 or IPPROTO xxx for IPv4 and IPv6 */
size t ai_addrlen; /* length of ai_addr */
char *ai_canonname; /* canonical name for hostname */
struct sockaddr *ai_addr; /* binary address */
struct addrinfo *ai_next; /* next structure in linked list */



(B#B)read) AT LO—)L

int read(int d, void *buf, size t nbytes)
- Bl&
< intd: T7PAILTARD)TH
- void *buf: FEHIRAATET—FERFTH=HDEFN YT 7)
- size_t nbytes: 1[B]|MDread) TEHEH DR/ NNV T 7D KE
)
- IRY{E
- int: ERIZERAIAATZNA Y
- OKYKRELY: BiHIAHRIS
- 0: 7ML DExR(EOF)IZE|E
- 0KY/INhSELY: IT5—



(B$5) writeQ> AT L3O—)L

int write(int d, void *buf,size t nbytes)
- 5|#k
cint d: TFAILTARI)TA
- void *buf: EZ AL T—RZERFLTLSESI - R4 20N

vI7)
- size_t nbytes: 1@ Dwrite 0 TEZ AL /A FEZAD T
—3DKES)
- IRYME

- int: EfRICEZTAATZ/NAMNL
- 0KYKRELY: EZAHARKIY
- 0LU/IhELY: 55—
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+ TCPTechoZ5AT7 U MEEVTRZELLS
- FE—BIMITHRANE, E2B|HIHR— I EEE
ETE

- LLTFOY—NNIZT7O1R
- Host name: long.sfc.wide.ad.jp
- Port number: 5525/tcp

- %ﬁ?ﬁIJJZPT:GDfQ——ijk;jjﬁgﬁgfﬂfﬁg
http://long.sfc.wide.ad.jp/ tatsurou/09a-

npro/



telnetaA < KETCPHY—/N

- telnetaA< K
- IR—FEFEB23TH—EXENS. JE—FOVY
—JL
- telnet www.sfc.keio.ac jp
- AR T avIc T, #EHEAR—FES%
EZbND
- telnet www.sfc.keio.ac jp 80

- telnet long.sfc.wide.ad jp 5525
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TCP B{Z DN (server)

TCP client TCP Server
getaddrinfo()
socket()
connect() ,w
—>  write() data
data
read()
i end

close()




SocketZFH U \f-IK7RE

RARA

IP Address: yy.yy.yy.yy

Socketz <

RAFB

IP Address: xx.XX.XX.XX.



bindO AT LO—)L

int bind(int s, const struct sockaddr *addr, int
addrien)

FAE L7T=sokcetD 7L REZE[E[ZsocketEFFU DTS

- IP7RLRETCP/UDPDR—EE DA

- HWEVTYRD R T—REclosed

EROI—FTlE-

— bind(listenfd, (struct sockaddr *) &servaddr,
sizeof(servaddr)

BN 50, To—Hn-10DRY{E



bindL7=4KRE

Proto LocalAdddress ForeignAddress State
TCP * A *E Closed
[ Port C|
RARA RARB

IP Address: yy.yy.yy.yy IP Address: xx.xX.XX.XX.



isten)v AT L3a—)L

int listen(int s, int backlog)

FAE LT=socketZzfFb (T {HIKREIZT 5
- YYD IREEEZCLOSEDASLISTENA

backlogld ¥ 1 —NEZ(backlog NDEKRKZEZHRIFTES)
- accept() SN D FE Thackloglr DF¥1—IZHE¥FF

- Fa—DHANDE. TOEKITEHR

EEOI—K Tl

— listen(listenfd, LISTENQ)

N30, T5—73b-1MIRYE



Listen()

Proto LocalAdddress ForeignAddress State
TCP * A wE Listen
| Port C |
RARA ~RARB

IP Address: yy.yy.yy.yy IP Address: xx.xX.XX.XX.



acceptOv AT .LO—)L

int accept(int s, strucet sockaddr *addr, int
*addrlen)

F1—THOTLAEHERERYHLT, 0

DIAT OREBIET B-ODTA RV T 3%

LT, R9

clientiIZ(EZ T4 7 FMDsocketd 7L X,

namelen[Z[clientDH 4 X

EERDI—FTlE--

— accept(listenfd, (struct sockaddr *) &cliaddr,
&clilen)

BTG LLWFDES . T5—Hn-10RY{E




accept()

Proto LocalAdddress ForeignAddress State
TCP XX. XX XX XX A yy.yy.yy.yy.X  Establish

Connect()

| Port C |
RARA RAFB

[P Address: yy.yy.yy.yy IP Address: xx.XX.XX.XX.



accept()

Proto LocalAdddress ForeignAddress State
TCP * A *E Listen
TCP XX XX XX XX.A yy.yy.vy.yv.X  Establish

Connect()

RARA RAFB

[P Address: yy.yy.yy.yy IP Address: xx.XX.XX.XX.



LN 15

int socket_fd, accept_fd;

int client_addrlen;

int readlen;

struct sockaddr_in server, client;

getaddrinfo(NULL, argv[1], &hints, &res);

socket_fd = socket(ai—>ai_family, ai—>ai_socktype, ai—>ai_protocol);

bind(socket fd, ai—>ai_addr, ai—>ai_addrlen);

listen(socket_fd, 5);

memset((void *)&client, 0, sizeof(client));

client_addrlen = sizeof(client)

accept_fd = accept(socket_fd,(struct sockaddr *)&client, (int *)&client_addrlen);
——(read/write’i & D NHE) ———

close(accept_fd);

close(socket _fd);

}
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